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Solve each equation.

1)  5v - 10 = -7(4v - 11) - 11(-9 - 3v) 2)  -6(4p - 12) + 4(7p - 12) = 4p - 12 + 1 - 7p

Evaluate each function.

3)  f (n) = 4n - 4; Find f (-7) 4)  k(x) = 3x2 - 4; Find k(5)

5)  f (x) = x3 + x2
; Find f (-3x) 6)  g(n) = n - 5; Find g(n + 2)

Perform the indicated operation.

7)  f (t) = 2t + 4

g(t) = -3t3 + 4

Find ( f   g)(t)

8)  g(x) = x2 - 4x

f (x) = 3x + 4

Find (g  f )(x)

Factor each completely.

9)  4x3 + 32x2 - 3x - 24 10)  3x3 + 36x2 + 108x

Solve each equation by factoring.

11)  4k2 = -40 - 28k 12)  4b2 + 32b = -48

13)  m
2 + 4m = 12

Factor each completely.

14)  7k2 + 3k 15)  7a2 - 24a + 20

16)  35x2 + 305x - 90 17)  6r3 + 7r2 - 24r
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18)  25x2 - 4 19)  8x3 + 125

Divide.

20)  (63x3 - 125x2 + 5x + 34) ¸ (9x - 5)

Simplify each and state the excluded values.

21)  
p

2 + 4p - 32

7p + 56
22)  

v
2 + 10v + 21

v
2 - 9

23)  
v + 7

5v - 7
 × 

35v2 - 44v - 7

7v + 1
24)  

3b - 4

7b
 × 

10b3 + 80b2

3b - 4

25)  
p - 6

7 - 35p
¸

4

35p - 7

Simplify.  Assume that all variables are positive.

26)  
4 + 3p

10p + 5p3

Identify the points of discontinuity, holes, vertical asymptotes, x-intercepts, horizontal

asymptote, and domain of each.  Then sketch the graph.

27)  f (x) = 
1

x
2 - 4

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8
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28)  f (x) = 
x

2 + 3x - 4

4x + 12

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

Simplify.  Your answer should contain only positive exponents.

29)  -vu
4
 × (-u-4

v
-5)-3

30)  u
5
v

4
 × (-u-2

v
-4)5

31)  
x

-5
y

0
 × -x

-2
y

-1

(x-2
y

3)2 32)  ( x
4
y

3
 × x

-2
y

0

yx
3
 × -x

-1 )
4

33)  -
x

-3
 × x

3
y

-4

(x4
y

-5)4

Solve each equation.

34)  2
2 - n

 = 
1

16

35)  4
2n + 2

 = 2
5

Evaluate each expression.

36)  log
7

49 37)  log
3

243

Expand each logarithm.

38)  log
9

(z4 3
x)

39)  log
6 (a

6

b
)

3
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40)  log
4

(ab3)2

Condense each expression to a single logarithm.

41)  log
7
z + 

log
7
x

2
 + 

log
7
y

2

42)  4 log
9
x - 4 log

9
y

Solve each equation.

43)  2e
n - 2

 = 8 44)  6
10n

 + 8 = 12

45)  log
7

(-5x - 1) = log
7

(7 - 3x) 46)  log
3

6 - log
3

(x + 6) = log
3

23

47)  log
9

2x2 - log
9

2 = 2

Convert each degree measure into radians and each radian measure into degrees.

48)  240° 49)  5p

50)  -420°
51)  -

p

3

Find the exact value of each trigonometric function.

52)  sin 
17p

3
53)  csc 

7p

3

54)  cos 
11p

3
55)  sec 

5p

6

56)  sin 
p

6

57)  cot -p
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58)  cos -
p

4
59)  tan -

7p

3

Solve each equation for 00 £  £ qq  <  < 22pp .

60)  3 3 + 2tan q  = 11tan q 61)  -6 + 2cos q  = -5 + 3cos q
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Answers to Entering Calculus

1)  No solution. 2)  {-5} 3)  -32 4)  71

5)  -27x3 + 9x2
6)  n - 3 7)  -6t3 + 12 8)  9x2 + 12x

9)  (4x2 - 3)(x + 8) 10)  3x(x + 6)2 11)  {-2, -5} 12)  {-6, -2}

13)  {2, -6} 14)  k(7k + 3) 15)  (7a - 10)(a - 2) 16)  5(7x - 2)(x + 9)

17)  r(2r - 3)(3r + 8) 18)  (5x + 2)(5x - 2) 19)  (2x + 5)(4x2 - 10x + 25)

20)  7x2 - 10x - 5 + 
9

9x - 5
21)  

p - 4

7
 ;  {-8} 22)  

v + 7

v - 3
 ;  {3, -3}

23)  v + 7; {7

5
, -

1

7} 24)  
10b(b + 8)

7
; {0, 

4

3} 25)  
-p + 6

4
; {1

5}
26)  

40 - 4 5p + 10 3p - p 15

100p - 5p2

27)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8 Discontinuities: 2, -2

Vertical Asym.: x = 2, x = -2
Holes: None

Horz. Asym.: y = 0
X-intercepts: None

Domain: 

  All reals except 2, -2

28)  

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8 Discontinuities: -3

Vertical Asym.: x = -3
Holes: None

Horz. Asym.: None

X-intercepts: 1, -4
Domain: 

  All reals except -3

29)  v
16
u

16

30)  -
1

u
5
v

16

31)  -
1

x
3
y

7

32)  y
8

33)  -
y

16

x
16

34)  {6}

35)  {1

4} 36)  2 37)  5
38)  4 log

9
z + 

log
9
x

3

39)  18 log
6
a - 3 log

6
b 40)  2 log

4
a + 6 log

4
b 41)  log

7
(z yx)

42)  log
9

x
4

y
4

43)  ln 4 + 2
44)  

log
6

4

10

45)  {-4}

46)  {- 132

23 } 47)  {9, -9}
48)  

4p

3

49)  900°

50)  -
7p

3

51)  -60°
52)  -

3

2
53)  

2 3

3

54)  
1

2
55)  -

2 3

3
56)  

1

2

57)  Undefined

58)  
2

2

59)  - 3
60)  {p

6
, 

7p

6 } 61)  {p}


